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HMHT AT
GENERAL KNOWLEDGE

1. T <Hifd R AT 61 g7 e Feforfad § @ sF-a1 8 7
(A) STTTUehTTEh ST | femdt o TR sl FredTied ST
(B) TiRreRTREs Al H TS 1 TedTEd BT
(C) YA T & TWIaAl bl S Te Al
(D) f&=<t & iRl = g™ <1
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work
(B)
(C) To Promote regional languages in India
)

(D
2. 389 Tide forg o yreey fepam T ?

In which year was the UTSAV portal launched ?

To encourage English in official work

To honour Hindi poets

(A) 2024 (B) 2023 (C) 2020 (D) 2022
3. F -1 I G — Il % |1 AT HITTC T i < e 6T ¢ e & Tl I gAY |
g -1 g -1l
() (&)
a. 3Rfag fsm . g Tg 3% T g
b. fertor <ETs II. § STeReH 31 are
c. I T lll. § SETEL TFTH
d. <. . TRurE IV. 31 T Shi &2
%<
(A) a=1l,b=1lll,c=1l,d=1V B) a—-lll,b-1I,c—-1,d-1IV
(C) a-Ill,b—-IV,c—1I,d-1ll (D) a—1IV,b—-Lc—-1l,d-ll
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V. S. Naipaul IV. In a Free State
Code :
(A) a=1l,b=1lll,c=1l,d=-1V B) a-lllbb-1I,c—-1,d-1IV
(C) a-ll,b—-IV,c—1I,d-1ll (D) a-1IV,b—-1Lc—1l,d-ll
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4. HF-H IRAT H, 2024 H T, 20 TG HUS BT SR Y ThU B i dTet IRAT T8el!

HIHET 99 W= ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

fope GoTEER Ut % IeaTed % fore AR ufeg ® 7

(A) ST (B) weft

(C) g (D) =
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

IR T Tgell IH:I1S BEsTS Tehe &1 -| gaifua fopam
(A) 31 TESX 2024
(B) 04 fegs 2024
(C) 04 faasr 2024
(D) 24 3T 2024

India’s first reusable hybrid rocket Rhumi-I was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024
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7. T — | 1 — 1| o WY GHTId Hif a4 i & e U T e ¥ wE W g |

gt -1 T -1l

(7 forgatererera) (¥T)
a. TS o fovafaeme . I
b. =aTSt GUTYEE S o favafaere™ II. hIcTshTdT
c. UM HEER g fereaferamer 1. feremagg
d. 9. gerarel vt g fovafosme IV. TR
e :
(A) a—IV,b—Ill,c—1l,d—1 B) a—lll,b—1Il,c—IV,d-I
(C) a-1ll,b—1,c—IV,d—Ill (D) a—IV,b—1Il,c—1,d—Ill

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur

Open University

Code :
(A) a—-IV,b—=Ill,c—1l,d-1 B) a-IllLbb=1Il,c—IV,d-1I
(C) a=ll,b=1l,c=1IVv,d-1l (D) a=1V,b=1l,c=1I,d-1l

8. 0 U i e w1 uh E=nies e gid T8 ? 2

(A) TRER (B) ®ISH

(C) "M T (D) enfifer T
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions
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9. T I T T U T ¥ IE Hleh SFfEd HIfT |
|. NG THST HT FTH
1. e fafy
I, 3N & I
IV. 3T(ehel T TUE
e feu Tu e § @ T W g
%< :
(A) L, Iv, B) 1L 1v, 1,1
(C) I, v, I (D) L, n, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) LI v, (B) I, Iv, 1,1
(C) 1L, IV, I (D) L1, v

10. = &1 %o & F5H @ T 1 AR (A) T TR I FRUT (R) FHaT TR |

AR (A) : TH. IS, AN TH. Teh ekt JUMTell & F8 WG Twepr & fren wamer™ 3 20154 I&
o |

THROT (R) : U378, 37T, 1 3299 (S0~ HIISUS] & YR T HAd W § = e geqmi s
freaer 3R aRGslT Yedtehd YgH T 7 |

:ﬁ%ﬁqmﬁﬁwwgﬁqz

(A) (R)‘cﬁ'—ﬁ:W%:?:ﬁT (R) , (A) <! T T T &

(A) 3R (R) ST 9T & T (R) , (A) Shl HEl AT &l LT 2

(A) §F B 9 (R) TTerd 8

) (A) TTeTd B W (R) W B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

(A)
(B)
(©)
)
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11, yumeA | fomr So1 uAfafedm & g 3w @ § 7
a. SETfEl % JER W TSR W@ |
b. TG TiCoTHt <t wfersramoft S |
c. TSR GL&T e |
d. TR R T | g |

il few e g2 # @ wEl I g

He

(A) HI a, b, ¢ (B) e a, ¢, d
(C) %9 ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :
(A) a, b, conly (B) a, c,donly
(C) c,bonly (D) b, donly

12, =@ g vfquifeq sHTeTe Sfegen evai # fFrefofaa § 9 o4 affifod & 8 7
(A) Y (B) ST (C) Tergetwor (D) ST

Which of the following is not included in the cognitive educational objective proposed by Bloom ?
(A) Comprehension (B) Application (C) Analysis (D) Organization

13. fr=fofaa & @ #a-a1 s 1. 5.8, qorelt 1 Tes & 7 7
(A) BTEAR (B) HTHRI (C) g= 1 (D) ST TR
Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
14, SIS hT WA S 35k FH07 6 g9 o i STt 8, HEend! 8
(A) 3R 3 T (B) M T TH (© fomanwa (D) I I

The memory of the computer which is programmed at the time of its manufacturing is called as

(A) ROM (B) RAM (C) PROM (D) EPROM
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15. =1 # ¥ % U HEW gl (TIE) U T8 8 7

(A) T ™ RR (B) SIfr

(C) i3S (D) =2 S
Which one of the following is not an Artificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

16. Fraffaa 3 & %1 ga1 Jguvr 1 0 | 7

(A) 3TIE (B) TETA (C) Tfrg-amt (D) T
Which of the following is the cause of soil pollution ?
(A) Ozone (B) Aerosol (C) Acid-rain (D) Smog

17.  ‘“fefraes o= w2

(A) TSI a (B) dfest a1 &l
(C) Ur=d d= bl (D) IcESH a4 hl
“Limbic system” is part of

(A) Reproductive system (B) Nervous system
(C) Digestive system (D) Excretory system

18. fo=fcifiga o & 9 9Ra § 31 fegsw 2024 6 THE I & 7
a. SREU I=SE THINTT
b. TG A

c. G JHYMH
d. GG TEH I

= feu T e § § wE W g

e

(A) haet a IR b (B) @had b, ¢ IR d
(C) a,b,c3M d (D) e a 3 ¢
Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland
d. Sultanpur National Park

Choose the correct answer from the code given below :

Code :
(A) aandb only (B) b, candd only
(C) a,b,candd (D) aand conly
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19. S £ fom g
(A) 3TUeHH H B) frepem & (C) weTga | (D) fufem o
‘Barren’ Island is situated in
(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

20. 3T STl GEAM, gl hl TTOHT e g3 off ?

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
21, I YT e Td TSI 6 AW % 1S fo¥ ™ 2 | 9 FEh 1 g i |
G T T
1. Y9 ER - TEwew
2. QX deetvg - LKy
3. Ul deetvg - T
4. GLEE - IR
(A) 1T 25 & (B) 179 4 &l 2
(€) 2T 3w & (D) 2H 4 WEl &
Ramsar sites and name of states paired below. Choose the correct pair.
Ramsar Site State
1. Sakya Sagar — Madhya Pradesh
2. Sirpur Wetland —  Tripura
3. Pala Wetland —  Meghalaya
4. Sur Sarovar —  Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
22. Torm srfrerg ® wrefiqd va aREl gFi 1 39 AT § Iooiw fierar g 7
(A) ST yTfEd (B) Vgt FIfEd
(C) e AT (D) fradl ww e
In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
23. T 31hieRT § I fagie & Tme Tiefisht ol STt 1 a1 ° - uedt < i off ¢
(A) A (B) TSI (C) NI TSR (D) TSR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
24, ‘SreTr foRm v # foreft mft oft 2
(A) Tt (B) T (€) 3rwsht (D) 3§
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu
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25. SHfed AT i SEURT i I 83

(A) ITEgferan H (B) W@ 1

(C) TgH TsT Fufeht o (D) IATEE fohren

The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
26. HIGUT AW I TH STEE T3 e AN 31 o1 7

(A) 16 3T 1947 (B) 26 SHel 1947

(C) 09 feust 1946 (D) 26 TGS 1946

When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26 January 1947

(C) 09" December 1946 (D) 26t November 1946

27. WA <% Gfaum # frefafaa § 9 SH-31 38 995 AATUsR 8 Tefd g ?
(A) IR 324 (B) 31I=a¢ 325 (C) =T 326 (D) 3T<Bg 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
28. EA 3cUTeH H WA 1 fIva H hiA-81 ¥IH 8 ?

(A) I (B) fadfta (C) = (D) =gy

What is the rank of India in the world in rice production ?

(A) 1t (B) 2nd (C) 3¢ (D) 4"
29. W.UA.3TE. (P.L.I.) @hm fore v &= @ afua T8 7 ¢

(A) TETEA Tafwior (B) ITEHIETESA I

(C) Tafercar Jushtur (D) STed § | IS &l

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

30. WRA H WAl < qvETd M GUR I AN A T AR 339 AT

(A) Ve fepami ot fir a1 g (B) 3= HHT ol S@IET &

(C) Y TR I TcHTlEd AT (D) Tt v B i w1 sfieto

The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

-9- 39


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

2
EC

PHILOSOPHY

31. oI g & ITUR Isa HEWifys (W-HH=) 8

(A) gl (B) T
(C) el (D) e
The higher universal (Para-Samanya), according to Vai\se$ika Philosophy is
(A) Existence (B) Attributeness
(C) Actionhood (D) Substancehood
32. IR % IFER 3gd I % ol WU Hoal A & 7
(A) g (B) THTIS (C) =i (D) |

Which of the following is the ‘Prime Opponent’ of Advaita Vedanta, according to éahkarabarya ?

(A) Buddhist (B) Ramanuja (C) Carvaka (D) Samkhya

33. T ¥ % Fey # frfafad sl w feam SifS |
a. Terepra =it 2 |
b. Tereh@ TuESH § |
c. foema whiE B |
d. o =519 2 |
B R I
(A) I b, ¢ (B) hed a, d

(C) ad b, ¢, d (D) %9 b, d
Consider the following regarding the Samkhya Philosophy.

a. Evolution is mechanical

b. Evolution is purposive

c. Evolution is linear

d. Evolution is circular

Choose the correct answers from the options given below :
(A) b, conly (B) a, donly
(C) b,c,donly (D) b, d, only

-10- 39
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34. S ®TeaTe fog 8

(A) HgaTe % fagr (B) SedeaTe i fig
(©) Trterare =1 fagr (D) |muEETe 1 g
The Jain doctrine of Syadvada is
(A) A Principle of Scepticism (B) A Principle of Miditism
(C) A Principle of Absolutism (D) A Principle of Relativism
35. HH — 1 G - I1'% |1 gafad Hifw |
-1 -1l

a. IR foqaTg | rEqEnfaarg

b. TG Il. STETHTETS

c. =™ IIl. SATeTREATITETS

d. HHmET (39T V. SFAURSAT(TETG
= feu U e § @ TE W g
(A) a—1I b-1ll, c—1IV, d-ll
B) a-IIl, b-l, c—1v, d-l
(C) a—1IV, b-1Il, c—N, d-I
(D) a-1l, b=1IV, c—I, d-1I

Match List — I with List — II.

List -1 List -1
a. Yogactara Vijnanavada I. Asatkhyativada
b. Sunyavada Il. Akhyativada
c. Nyaya M. Atmakhyétivéda
d. Mimamsa (Prabhakar) IV. Anyathakhyativada

Choose the correct answers from the code given below :

(A a=1, b=, c—Iv, d-Il
B) a=Illl, b-=I, c—IV, d-lIl
(C) a=1IV, b=, c—Ill, d-I
(D) a=1ll, b-1vV, c—I, d-lll

-11- 39
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36. R & Ted # fefafgd et w famm hifsu |
. Jerd H Yerde ud o fou Iaterh § |
b. 38 TEIER W wrsy forat B |

c. 98 FEINUHeTE sl TR Hid @ |
d. 9 gcg <l olien % ®U U AT o 0 ol BN i B |

Q

= feu o foepedt # & wE W gHC
(A) e aTd b EEl & (B) *hadl b TS ¢ Tl B
(C) el bUd d TEl & (D) et aTd d He &

Consider the following statements regarding éankara.
a. He is responsible for the Bhedabheda view in Vedanta.
b. He wrote commentary on Prasthanatrayi.
¢. He maintains Brahmaparinamavada.
d. He accepts the principle of non-contradiction as the test of truth.

Choose the correct answers from the options given below :
(A) aand b only true (B) b and c only true
(C) banddonly true (D) aandd only true

37. HATfihi % FFER Ffafeq § 4 s 9 8 ?

NEESAER (B) hael ST&I ST

(C) hadl Tod el &Tel ST (D) 3T | T hIg A&

Which of the following is true according to the Sautrantikas ?

(A) C\)itta only (B) External world only

(©) (\Zitta as well as external world only (D) None of the above
38. ‘foma-wif=1’ = frgra wafed @

(A) . =t yemd @ (B) fadesre &

(C) Ty &R & (D) THTHWH &

Principle of ‘Cosmic Error’ is related to

(A) K. C. Bhattacharya (B) Vivekananda

(C) Rabindra Nath Tagore (D) Radhakrishnan

-12- 39
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39. . Hl. V=R % AR g~k a1 h W 7

According to K. C. Bhattacharya, grades of theoretic consciousness are

(A) 6 (B) 5 C) 4 (D) 3
40. ‘gfee Fra w1 sEeel T 2 |7 I fRuH U R 7
(A) TSI TEH (B) . Fmfd w1
(C) faeerg &1 (D) it 3nfdg &
“Creation is the ecstatic dance of Shiva.” This statement belongs to whom ?
(A) Ramkrishna Paramhansa (B) J. Krishnamurti
(C) Vivekananda (D) Sri Aurobindo
41, meft % srfen geeft foaml % Hed § wiH-1 YA gETd T 7 7
(A) T W B (B) |TET HIEH w1 =TT 38Ul 8
(C) T e Afcrh wroft 7 (D) <Al shi 3TueT f&ar Ised 8
With reference to Gandhi’s concept of non-violence, which statement is not consistent ?
(A) Truthis God (B) End justifies the means
(C) Man is an ethical being (D) Violence is better than cowardice
42. g — | 1 g - 11 Ty AT A |
Tt - | Tt -
a. faa®mg 1. g Trefiem s1fe 24
b. THTHI Il S A
c. &R NI, g e 37 fofem
d. meft Iv. g feralt 3176 %Y
= feu e foepeut 9 9 @& 3 g
(A) a=1IvV, b-=I, c=ll, d-1ll
B) a=1l, b-1V, c—I, d—1l
(C) a=1Iv, b-1Ill, c=1, d-I
(D) a=1M, b-I, c¢c=I, d-=IV
Match List — | with List — II.
List -1 List -1l
a. Vivekananda [. The Religion of Man
b. Radhakrishnan II. Gyan Yog
c. Tagore [ll. The Art of Living
d. Gandhi IV. The Recovery of Faith
Choose the correct answer from the codes given below :
(A) a=1IV, b-=I, c=ll, d-=l
B) a-=1l, b-1V, c—I, d—1ll
(C) a=1Iv, b-1Ill, c-=1Il, d-I
(D) a=1M, b-I, c¢c=I, d-IV
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43.

44,

45.

46.

GET IT ON
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“HTE1 ST sh1 SATEAT 1 I3 agia &l 8, FAUq STd T Ueh dAeTcHe forawol & |7 I8 HUd
afed 8

(A) Teeerg @ (B) TR & (C) *fi IWfae =

(D) THUTHFOH &

“Maya is not a principle to explain the world, but it is a factual statement regarding the world.” This statement

belongs to

(A) Vivekananda (B) Tagore (C) Sri Aurobindo

THTFSH % TR T 1 TSt & ehelt 2

a
b
c
d

.St e A
. Sifgh o9m @
. g |

. GgTcHs gfd |

A fo T faeer @ T I g

(A) o a,bTd dF (B) et a,cTd d T
(C) o a, b T ¢ (D) %A b, cTI d T

According to Radhakrishnan, knowledge can be obtained by

a.
b.
c.

d.

Sense experience
Intellectual cognition
Intuitive apprehension

Dialectical method

Choose the correct answer from the options given below :

(A) a,banddonly
(C) a,bandconly

(B) a, candd only
(D) b, canddonly

Al ST, JeEl o ST 1 ITIHIT 8 | Ag e fehad feam @ 2
(A) UREATSES (B) =il (C) g

(D) Radhakrishnan

(D) UTSATTRH

“Empirical world is the imitation of the world of ideas.” This statement is given by whom ?

(A) Parmenides (B) Plato (C) Pyrrho

ST Tl o fagia’ o1 @ued gayem ferga feam ¢

(A) T (B) Fehet (C) @I

‘The theory of innate ideas’ was refuted for the first time by

(A) Descartes (B) Berkeley (C) Locke
-14-

(D) Pythagoras

RZEIE

(D) Spinoza
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47. w3feres < faqupsti & fawr o wn wierd 78 7 7
(A) Torgu] TTenerE 2 8 (B) foreu) siddare *td &
C) ferey snenfams o & (D) ey e 7
Which of the following is not acceptable to Leibnitz regarding monads ?

(A) Monads are windowless (B) Monads interact with each-other

(C) Monads are spiritual forces (D) Plurality of monads

48. G — | S G — Il Y AT AL |
gt -1 gt -1
(Rrgia) (GNIEED)
a. HAgTATg . Sehed
b. wfafremare II. ieh
c. AT JIIaTg . gfeiest
d. drfcereh sgetar IV. BH
ﬁ%ﬁmnqﬁWWﬁﬁi%mﬁmﬂgﬁq;
(A) a b—1l, c—1, d-llI
B) a-1ll, b-1IV, c—I, d-Il
(C) a-1Il, b-ll, c—1IV, d-I
(D) a—lll, b—ll, ¢—1, d-1IV

Match List — | with List — II.

List -1 List -1l
(Theories) (Philosophers)
a. Sensationalism |. Berkeley
b. Representationism Il. Locke
c. Subjective Idealism . Leibnitz
d. Metaphysical Pluralism IV. Hume

Choose the correct answer from the code given below :

(A a b—1Il, c—1, d—1l
B) a=Il, b-IV, c—I, d-Il
(C) a=1l, b=, c—=IV, d-I
D) a-1lll, b-ll, c—I, d=IV
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49. = feu ™I T FoAl § ¥ TH HI MHLA (A) 3R TR HI T (R) Hal TG |
ARA (A) : 7T hed & oF ‘T ieaEy 77 |
T (R) : o WA 8 fob feram 3 = <t shifeat wh & # |
Wmﬁ%mﬁﬁmﬁ%ﬁﬁwﬁﬁﬁwﬁwwwgﬁ :
(A) (A) 3 (R) ST T&l & 31 (R), (A) H1 Tl = @
(B) ( R)aﬁﬂﬁ%t@m (A) i T =ImE TE R
©) (A) “a'sﬁ, =g (R) TTeld B
(D) (A)TTerd &, W (R) W&l B
Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Hegel asserts that ‘Real is Rational.’
Reason (R) : He maintains that the categories of reality and thought are the same.
In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is the correct but (R) is not correct
(D) (A) is not correct but (R) is correct

50. g — | I G — 11 TTY AT R |

g -1 g -l
a. A% |. I 19T 7, 99 & Tq 8
b. A II. BT GRICT §
c. e 1. 79 Ueh il qfgam @
d. Sehet V. difeheh 3TULETE
ﬁ%mmﬁwﬁﬁﬁﬂéﬁwgﬁn
(A) a—IIl, b-l, -1V, d-ll
(B) a —II b -1, c—IV, d-|
(C) a b-1, c—Il, d-1Ml
(D) a —III b-1V, c-1, d—Ii
Match List — I with List — II.
List -1 List -1
a. Locke I. Real is rational and rational is real
b. Russell II. Esse est percipi
c. Hegel [ll. Mind is a Tabula Rasa
d. Berkeley IV. Logical Atomism
Choose the correct answers from the code given below :
(A) a—1Ill, b-l, c—1v, d-l
B) a=1Il, b-Ill, c-1Vv, d-I
(C) a b-1, c—Il, d-1l
(D) a—III b-1V, c-1, d-1ll
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51. “‘OuEd {H H1 IRY 39T ¥ i1 7, Fohq 3uehl St sy & & et |7

3T HoH TERIG 8
(A) ik @ (B) wEfoTest @
(C) e q (D) &t °

“All knowledge begins from experience, but its origin is not from experience.”

Above mentioned statement is related to

(A) Locke (B) Leibnitz
(C) Kant (D) Hegel
52. TfaRea § @ w1 wadt (eieX) foeiierss @ wafd 7€ 8
(A) fatfereeTd 312t o1 g (B) WISt @t 1 fomm
(C) Toft vt =1 T (D) T W 3menia 3 fogia
Which of the following is not related to later Wittgenstein ?
(A) Representational theory of meaning (B) ldea of language games
(C) Private language argument (D) Meaning depends on its uses
53. ‘T AT % foeg oY 2, T9& I 6 e 399 o fean | 9 fopdent e @ 7
(A) AT T (B) Wt I
(C) forgiiwers &1 (D) ferersh 1

“Philosophy is the struggle against language, that has created bewitchment in knowledge.” Whose
statement is this ?

(A) Carnap (B) Russell
(C) Wittgenstein (D) Schlick
54. Trefafad § @ foree @d wom I8 g e &1y fohan 2 o forelt ag <1 & Sueh! gearan =&
Bl 8 7
(A) T (B) ™ () =m (D) e
Which one of the following was the first to prove that the existence of any object is not its perception ?
(A) Russell (B) Moore (C) Sartre (D) Husserl
55. ‘FuiATCHe aradiEiE <l STauren fhud TefE 7 ¢
(A) & (B) FTEH | (C) &t & (D) @t &
The concept of ‘Descriptive Metaphysics’ is associated with whom ?
(A) Strawson (B) Quine (C) Hegel (D) Sartre
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56. ET — 1 %I T — |1 A1 GHTATT L |

T - | = -1l
a. g | =g Ug A
b. feriieersa II. 3Tisfeas
c. WA IIl. TretraTheret safecTere
d. EEST Iv. stgT Ug AforE
= feu o faehedt & @ T 3w T -
(A) a—Il, b-lll, c—Iv, d-I
B) a-ll, b—I, c¢c—Il, d-IV
(€) a-1ll, b-1IV, c—I, d-lIll
(D) a—=I, b-ll, c-Iv, d-lI

Match List — | with List — 1.

List -1 List— 1
a. Husserl I. Being and Time
b. Wittgenstein II. ldeas
c. Sartre [ll. Philosophical Investigations
d. Heidegger IV. Being and Nothingness

Choose the correct answer from the code given below :

(A) a—1l, b=Ill, c=IV, d-I
B) a—=Ill, b-l, c—Il, d-1IV
(€) a-1Il, b-1Iv, c—1, d-ll
(D) a-1, b-Ill, c-1V, d-ll
57. ‘ST fGieETe’ % gudsh gl &
(A) BB (B) T
(C) HrehTre (D) I # # Hg
Philosopher supporting ‘Theistic Existentialism’ is
(A) Heidegger (B) Sartre
(C) Kierkegaard (D) None of the above
-18-
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58. FAT — | I G — 11 TT1Y AT AL |

it -1 -1l
a. 9H |. =T 1 fersRmderar
b. Tiga II. AT |R T qat B
c. FATE . g foers o &9 # wiifoe a&qu
d. g V. JTIHEETE o Gl HATTE
= fqu U foehedt & @ T S AT
(A) a=1Il, b=, c-1Iv, d-I
B) a=1Il, b-=Iv, c-1l, d-I
(C) a=1, b-1ll, c=1v, d-I
(D) a=1l, b-=1IV, c-=1I, d-I
Match List — | with List — II.
List - | List -1
a. Sartre I. Intentionality of consciousness
b. Strawson Il. Existence precedes essence
c. Quine [ll. Material bodies as basic particulars
d. Husserl IV. Two dogmas of empiricism
Choose the correct answers from the code given below :
(A) a=1Il, b=, c-1Iv, d-I
B) a=1Il, b-=Iv, c-Il, d-I
(C) a=1, b-=1ll, c=1v, d-I
(D) a=1l, b-1IV, c=1I, d-I
59. dTfeheh TAISH p = q i TRATYA foham ST 2
(A) (p-9) v (~p.~q) (B) (Pva)>(p.a)
(C) (poa)>(P>0) (D) (pva).(~pv~q)
The logical connective p = q is defined as
(A) (p-9) v (~p.~q) (B) (Pva)>(p.a)
(C) (poa9)>(P>0) (D) (pva).(~pv~q)

60. frfetfaa fgepardt forem w1 wieqor =i
(Pp.q)=~(~pv~q)
(A) TE 3T B (B) 98 9 &
(C) T T 2 (D) STIF § | SIS &
Examine the following bi-conditional rule

(p.q)=~(~pv~q)
(A) ltis false (B) ltis true
(C) ltis undetermined (D) None of the above
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61. foem & @ fom 8

(A) dTeTcH, FHCIAT dUT SATATd
(B) dTGIcH, SATHTA G HEFH TIER
(C) =TETd, qefad qUT Arge
(D) TTETeRI, SATET qUT Tideh
The three laws of thoughts are
(A) Identity, Equivalence and Contradiction
(B) Identity, Contradiction and Excluded Middle
(C) Contradiction, Tautology and Identity
(D)

62. Tauer =rmrame # sepfaat 2idt &

Number of figures in the categorical syllogism are

Identity, Contradiction and Contingent

(A) 5 (B) 4 (C) 3 (D) 2
63. AEE-1 =aTe # f=r gfed g 3

(A) AT HEAH UG QN (B) 37T WL UE T

(C) 37T U IS o (D) TeTeHes, YR T QY

The syllogism AEE-1 commits the fallacy of

(A) Fallacy of undistributed middle (B) Fallacy of illicit major

(C) Fallacy of illicit minor (D) Fallacy of exclusive premises
64. e ‘A wfagfed @ &1, @ E, I 3R ‘O’ Ufaq=fea=r gt

(A) 3F, T 3 3EA (B) 3E, IE I A

(C) |, 3HT 3N 3H (D) T, T N A

If ‘A’ proposition is true, then ‘E’, ‘I’ and ‘O’ propositions would be

(A) False, True and False (B) False, False and False
(C) True, False and False (D) True, True and False
65. Tty o IRufeh Iqsahiv o AR ‘A’ T8 ‘B Ufaafai & e fafeq g9 1 a1 s @
(A) Tauda (B) 39-forudia (C) == (D) 3UIHA
In the traditional square of opposition, the relationship existing between ‘A’ and ‘E’ propositions is
called as
(A) Contrary (B) Sub-contrary (C) Contradictory (D) Subalternation
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66.

67.

68.

““ 3T T TE TR W G 8, U8 & |7 W HYF HT dEY B

GET IT ON
Google Play

(A) gurard fagra @ (B) frad=ard g &

(C) UfaerraTd! fagra & (D) 310 | IS T8

“The proper treatment of a crime is its cure and not punishment.” This statement refers to
(A) Reformative theory (B) Preventive theory

(C) Retributive theory (D) None of these

= Q1 e & T @ T 1 AMHLA (A) TUT G I HRT (R) el T 8 |

e (A) : fwifoe o THER @ ww e B |
HROT (R) : AT WUTEd: @ I LT =8l 7 |
He:

(A) (A) 3 (R) GHT T & 3R (R), (A) T HEl AT BT &
(B) (A) 3R (R) QHI &cd & T (R), (A) i Ha&l AT T2 Ll &
)

(C) (A) T 8 W] (R) TToid @
(D) (A) T 8 Tg (R) I B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : According to Sidgwick, pleasure is the ultimate end.

Reason (R) : Man naturally seeks pleasure.
Select the correct answer from the codes given below :
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

frefafaa § @ S9-31 v I od w9 ° gAfa 7 ¢
(A) Fem - g

(B) ¥H - YuidmETe

() fra - 3d: Y9ETg

(D) =10 - Hudiq

Which one of the following pairs is correctly matched ?
(A) Bentham - Rationalism

(B) Green - Perfectionism

(C) Mil - Intuitionism

(D) Kant - Hedonism

-21-

39


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

69. I Q1 %A 8 T ¥ T I AR (A) TAT GEL Sl HRI (R) Hgl T2 |
e & AR fomm Hifv
AfireRed (A) : s AT T AYar deba: JHIOG Tl Sl ST Tehal |
HROT(R) : A A W3 bl 1fyeafad gid € |
el feu e e @ T I g
®e:
(A) (A) 3T (R) T T & 3T (R), (A) HT TE =T HLaT B
(B) () aﬁW%W(R),(A)ﬁHﬁWﬁW%
(©) (A A % T (R) Terd @
(D) (A)TeTd B g (R) 8 B
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Consider, according to Stevenson :
Assertion (A) : The validity of ethical judgements cannot be logically proved.
Reason (R) : They are merely expression of feelings.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

70. = g YA 8 TH | T 1 JARFHUA (A) 9T G I HRU (R) el T2 |
ATReA (A) : 192 T AT 2 b o= Wi AT 3faeh B |
HWUT(R) : ¢ 7 I8 T Ufqurted fohan T =afed 1 Ted U arayiiy oM & 3 & 3T=RoT ST
=ME |
= feu T e | T I AT
&R
(A) (A) 3T (R) ST & & 31T (R), (A) 1 T AT HLdT B
(B) (A) 3R R)aﬁw%w(R),(A)aﬁaﬁwqﬁW%
(C) () HeA B T (R) Tefd B
(D) (A)TTeTd B T (R) ¥ B
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Kant is of the opinion that breaking a promise is immoral.
Reason (R) : Kant has propounded the principle that one must always act on a universal law.
Select the correct answer from the codes given below :
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

)
(C) (A)is true but (R) is false
(D) (A)is false but (R) is true
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71, “HIS TEAA S ofdT 8 ; IS T T W g SfeAl ¥ TRl g3 BT @ |7 Ag HU HetUd @

(A) BeH ¥ (B) Wik & (C) &1 T (D) RerTeret &

“Man is born free; though everywhere he is in chains.” This statement belongs to

(A) Hobbes (B) Locke (C) Rousseau (D) Machiavelli
72. ‘o a1 % fofw 3Thm 2 |7 U7 wed fohod wwifa g ¢

(A) A (B) wTe (C) =3 (D) = =

“Religion is the opium of the masses.” This statement is related to whom ?

(A) Lenin (B) Marx (C) Mao (D) Che Guevera

73.  “Hedeh a&] ST o To10 & | T o foreg 1S =fiol =&l €, TS o STel is =il 4ei 2|
I e Trferfiad # & ford Torfifoe foem & oR A o a7
(A) THTST (B) HIEETG (C) |T=IaTg (D) SHEAIG
“Everything is for the State. Nothing is against the State and nothing is beyond the State”.

Above statement rejects the essence of which of the following political thought ?
(A) Ram Rajya (B) Fascism (C) Communism (D) Naxalism

74, = HUA 8 TH | T I AARFHUA (A) AT G I HRU (R) a1 TS |
MR (A) : 3719 TG H HfGATST I T &3 § e oh THM DI THFAT U9 ST I & |
HWOT (R) : YT o1 Giaere Algenadl o i fhel ft TR % Wewra o1 8y war 8 |
el fe2t T g2 & wE I R
he:
(A) (A) 3R (R) ZFI & & 3R (R), (A) Sl F&l AT HTdl @
(B) (A) 3 (R) GHI & & T (R), (A) h1 HEl SAREAT & hicll &
(O) (A) ¥ & T (R) Terd 2
(D) (A)TeTd & W (R) & @
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Women in India today legally enjoy equal opportunities with men in all fields.
Reason (R) : The Constitution of India prohibits any kind of discrimination against women.

Select the correct answer from the codes given below :
Codes:

(A)
(B)
(©)
(D)

Both (A) and (R) are true and (R) is the correct explanation of (A)

Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true
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75. = g1 %eF B S & s i AAfReE (A) 9T G I RN (R) HET TR |

76.

HTUEHUA (A) : ST T AR FAT R |
HRUT (R) : Ao Siferes w9 @ ferifca gar 2
= fedr T e & T s g

%

(A) (A) 3R (R) SHT T & 3T (R), (A) I L AT FLAT 2

A) 3R (R) Q1 @cd & T (R), (A) <h1 Tl ST &l hLal B
)

)

B) (
(©) (
D) (

A) T 8 W] (R) TeId 8
A) TeTd 8 T (R) I 8

GET IT ON
Google Play

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Gender is a social construction.
Reason (R) : Sex is biologically determined.
Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) istrue but (R) is false

(D) (A) is false but (R) is true

SEHEHITE < FHE T E Fehd @

(A) AT, STEESIAT, W T HE

(B) THAT, AESI[AT, W, HHE 1 3197

(C) rafesuar, Tamar, fafawd & amm

(D) HWHdT, FiESar, a9 wd fafaygar 1 a9
Main pillars of multiculturalism could be

(A) Equality, intolerance, fear and suspicion

(B) Equality, tolerance, fear, absence of understanding
(C) Intolerance, equality, respect of diversity

(D) Equality, tolerance, understanding, respect of diversity
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77. I — 1 G - 11 F1 FATT L |

78.
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“end 7 1 forgi ®, T & g3yl 7 & SifgHar ¥, 7% T 6@ wyfd 2, I8 AT 2 |7

T - | T -1l
a. é‘@l‘lﬁ Gl . 3TEdT
b. forg o II. & T EifEe
c. o9 g lIl. sTgse
d. o e IV. ST &
= feu v faehedt # @ 3IcR g
(A) a—1Iv, b-1Ill, c-—I, d-1li
B) a=-1Il, b-Iv, c-1ll, d-I
(C) a-1, b-1lll, c-1, d-IV
(D) a=1l, b-1ll, c-1v, d-I
Match List — | with List — II.
List -1 List I
a. Christianity I. Avesta
b. Sikhism II. Guru Granth Sahib
c. Jainism . Bible
d. Zoroastrianism IV. Agam Sutra
Choose the correct answers from the code given below :
(A) a=1Iv, b-1Ill, c-I, d-1ll
B) a=-1Il, b-Iv, c-1ll, d-I
(C) a—1, b-Ill, c-1, d-IV
(D) a-Hl, b-l, c-1V, d-I
ST HUA Tl B

(A) Torasre & g getft fomm &
B) *fi 3nfie & ud gaef fomm @

(C) ieft & o weeht fomm @
(D) TR & e weef fomm @

“Religion is not in doctrines, in dogmas, nor in intellectual argumentation, it is being and becoming, it is

realization.”

Above statement is related with

(A) Religion related thought of Vivekanand

B

(D

) Religion related thought of Sri Aurobindo
(C) Religion related thought of Gandhi
) Religion related thought of Tagore
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79. = €9 % AR frfefad @ @ i vk ¥ H fomimar A T 2 ¢

(A) iR (B) wEtErHdT

(C) TveE™ (D) Teverea

Which one of the following is not the characteristics of the middle term, according to Nyaya
Philosophy ?

(A) Badhita (B) Paksadharmata

(C) Sapaksasattva (D) Vipaksasattva

80. dig g¥F H [fad &g ygw veg ‘Traior’ =1 e 2
(A) ‘I IMT, g Ty s
(B) Teg &
(C) Sfter =1 fmer
(D) ITda § § g TE

Meaning of the term ‘Nirvana’ which is used in Buddhist Philosophy for liberation is
(A) ‘Blowing off’, a stage of cessation from suffering

(B) Death

(C) Negation of life

(D) None of the above

81. THEH JITHE g AT I 3

(A) il = (B) I =
(C) fopam = (D) T &
Yoga popularised by Paramahansa Yoganand is
(A) Bhakti Yoga (B) Gyan Yoga
(C) Kriya Yoga (D) Raj Yoga
g2. fires wlshanati o ‘vara—=ET 1 w1 HET €@ B 7
(A) =™ (B) fram (C) ST (D) SeTER
In Yogic practices, ‘control of breath’ is called by which name ?
(A) Yam (B) Niyam (C) Pranayam (D) Pratyahar

83. “g Hifaeme feH ITAIRTATET 1 HATAshHUT *hid BT HANH 9 8 R-IWAFarEre fde et /e
I TR KL A T W fo=m +d 87, i et ST 2
(A) e fifcrerme (B) ferifersmen
(C) TR ifcrerret (D) ST | & HIE T

“The ethics in which transcending the utilitarianism, we tentatively accept non-utilitarian moral ideals/
rules in discussing ethical questions” is called

(A) Normative ethics (B) Metaethics

(C) Applied ethics (D) None of the above
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84. ‘IRHEH’ Tpel TTA TeRaT T e
(A) = g (B) I FH (C) U@ g (D) UTEUTIE g

The ‘Lyceum’ school was established by

(A) Plato (B) Aristotle (C) Socrates (D) Pythagoras

85. ‘Wg?ﬂTElTUTTst%IFIﬁT’ Ig A B
(A) = (B) wt (C) drret (D) el
‘A moving arrow does not move’ is the view of

(A) Hume (B) Zeno (C) Hegel (D) Plato

86. T I T Wl FTHY H Fafedd HINT |
BECIE]
II. TSR
Il T
IV. T
T
(A) 1,11, 1V, 111 B) 1,1V, 11, 1l
(©) 11,10, 1V, | (D) 1,1, 11, IV
Arrange the following steps in a real sequence.
[. Thales
Il. Pythagoras
[ll.  Anaximenes
IV. Anaximander

Choose the correct answer from the codes given below :

Code :
(A) LI v, B) I, Iv, 1,1
(C) 1,1, 1v, 1 (D) 1, 0L, 1, 1v
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87. ‘I TEPHS A& L ThaT &, W MMIsh! ST hl @IS Ycfled Tal oht Tehcll | T8 HY Tafed &

(A) TGy SR | (B) THEH ANTHS &
(C) . W & (D) %. ®t. wg=E o
“Everything else can wait but your search for God cannot wait”. This statement belongs to
(A) Rabindra Nath Tagore (B) Paramahansa Yoganand
(C) J. Krishnamurthy (D) K.C. Battacharya
88. Trafafiga # & fop tfies griforent 3 v wemmo] goia < TumoAT 61 oft 7
(A) Ifaw ud guifshed 3 (B) TIMUE TF ARG
(C) SFifshed ud Aefrr 3 (D) Srefist e g
Which of the following Greek Philosophers have propounded atomic theory for the first time ?
(A) Leucippus and Democritus (B) Leucippus and Pythagoras
(C) Democritus and Thales (D) Thales and Pythagoras
89. fr=feifiad & & = T ‘g8 HETew’ T 9 TEI ] 7
(A) & (B) sfea (C) @ (D) Fom
Which one of the following is not the part of ‘Das Mahadesh’ ?
(A) Truth (B) Non-violence (C) Tap (D) Niyam
90. ‘31qd’ =1 fagra fopmes g wfowifea & ¢
(A) =T g3 (B) T g
() e =i (D) S T
The Principle of ‘Apirva’ has been propounded by
(A) Nyaya Philosophy (B) Samkhya Philosophy
(©) Mimamsa Philosophy (D) Jaina Philosophy
91. Tmafeifaa § @ =1 ws faagfs =1 yer & 7 2
(A) fora (B) fomlw (C) SHTIT (D) fereheq

Which one of the following is not a kind of Cittavrtti ?

(A) Kshipt (B) Viparyaya (C) Pramana (D) Vikalpa
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92. #ft 3Rfarg % AR ffafed & & o v faehen it Bafaw ufsken o afdifoa 72 g 7
(A) Tereartietor (B) IR (ORIEIETU (D) THIfieRtor

Which one of the following is not included in the triple process of evolution, according to
Sri Aurobindo ?

(A) Widening (B) Hightening (C) Deepening (D) Integration
03. fa=fefiad § 9@ 9 v Guza wu1fy o1 yhR A8 & ?

(A) Gfadeh (B) Ffe=R (C) 3™ T (D) |FE

Which one of the following is not a kind of Sampragyata Samadhi ?

(A) Savitarka (B) Savichara (C) Upay pratyaya (D) Sananda
94. Tr=ferfaa ® @ form wes foren o 3fgani ot afedeh @ Sade foren a2 7

(A) &= (B) 9momI™ (C) I8 (D) &mon

In which one of the following kriyas, indriyas (senses) are diverted from extrovert to introvert ?

(A) Dhyana (B) Pranayama (C) Pratyahara (D) Dharana

95. THI AN < Jadh &
a. *ff awfag
b. TATHT =0T A&
c. W faeepre
d. THE ANTHG
A fow T fereberdi B @ R S TR
(A) I a (B) Shadd aTd b
(C) had aTd ¢ (D) e d
Integral yoga was propounded by
a. Sri Aurobindo
b. Shyama Charan Labhiri
¢. Swami Vivekanand
d. Paramahansa Yogananda
Choose the correct answers from the options given below :
(A) aonly (B) aandb only
(C) aandconly (D) donly
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96. dfees Hifawmer i ST Taumon 8

(A) Fd (B) I (C) gewTed (D) vt

The central concept of Vedic ethics is

(A) Rta (B) Sanyasa (C) Purusartha (D) Vamna
g97. Tmafafga & @ SF-w1 w e & Tat= W & 3T AL BT 7

(A) o (B) HeM (C) He&Hfa (D) M

Which one of the following is not the part of Rashdall’s Highest Good ?
(A) Religion (B) Virtue (C) Culture (D) Knowledge
98. ‘TR gfee ¥ Hfcieh U Tk YA &l Bld; TAIY o 7 1 T B & 3T 7 & 38 |7

TH Y § Heaq e fagia Afaffee i @
(A) BT (B) T HI (C) TX I (D) Tosifaes =1

“Factually, moral judgments are not meaningful; therefore they are neither true nor false.” This statement
resembles the ethical theory of

(A) Hegel (B) Ayer (C) Moore (D) Sidgwick
99. T % IFHR N

(A) HogrTE 8 (B) dhwTs 7 (C) uRwTy & (D) 3TIEH 8
According to Moore, Good is
(A) Doubtful (B) Definable (C) Undefinable (D) Meaningless

100. “3H YR & U {8 AHaAr 918 98 JreR 3T+ Afede | 8 a1 fopefl 37 °, dda @1y &9
yfafssa g a fr e ww 4 |7
39 FUA I = A g 2
(A) BT B (B) T i (C) S&t & (D) TV H

“So act as to treat humanity whether in thine own person or in that of any other always as an end and
never as a means”.

This statement reflects the ethical principle of

(A) Hegel (B) Sartre (C) Bradley (D) Kant
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